
HW # 20 Final Answers
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1lb) Y= ¥+5T, Matches sketch

2cal

34<-3

÷::i:

2lb) ✗ = (y -21
'

-3 0% y= ±Ft +2

with Restrictions -31×46 0% -12-4<-5

Note : need to clarify that the trajectory does not follow the entire parabola .

Note : need to clarify that the trajectory does not follow the entire parabola .
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3lb) y= 1- ✗
2

Natural Restrictions : Keep TZO under the Square Root

here keep x=o on the entire potential
parabola 4=1

- ✗
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4. 4=24×-39

5. y= -11×+11-2

6. Are length = e' +1

7. Arclenqth = File"=1)


